13.1.21 Daily Ten

6x7=

6537 — 137 =

6Xx9x2=

9280+ 1=

0x7315=

How many sides does a hexagon have?
55+ 27 = -18

What are the factor pairs of 367

How many mm in 100cm?
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10. If Sam walks 2 %km each day, how far does he walk in 2 weeks?
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Ll: To use column multiplication




. There are 21 coloured balls on a _
y T @)
Fluenc snooker table. ke nes

How many coloured balls are there = ©
3 ker tables?
Spr4.2.1 - Multiply 2-digits by 1-digit (1) on Vimeo on = Snooker fables TTTTIIIT R
Use Base 10 to calculate: STTTTTTITTY B
21x 4and 33 X 3 —

. Complete the calculations to match the place value counters.
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. Annie uses place value counters to work out 34 X 2

Q O O m  I%]a method to solve:
T 23 X3
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https://vimeo.com/492101238

Complete Wednesday worksheet and Wednesday True or False question



